TABULATION SHEET Bid No: 2019-005-6769 Opening Date: 12-03-2018 Vendor No. 1 Vendor No. 2 Vendor No. 3 Vendor No. 4 Vendor No. 5 PROJECT: Wintergreen Road MCIP PROJECT NO. 47302 Texas Standard Construction S.J. Louis Construction Rebcon, Inc. Accelerated Critical Path Inc Ed Bell Construction Co. 520 South 6th Avenue CSJ: 0918-47-015 P.O. Box 210768 1868 W. Northwest Hwy 5760 Legacy Dr Ste B3-513 10605 Harry Hines Blvd LIMITS: From Main St. Intersection to 1300 ft to East along Wintergreen Rd & Dallas, TX 75211 Mansfield, TX 76063 Dallas, TX 75220 Plano, TX 75024 Dallas, TX 75220 PH: 214-330-5229 PH: 817-477-0320 PH: 972-444-8230 PH: 214-796-4898 PH: 214-358-6581 Main St. Intersection to 900 ft to South along Duncanville Rd. PROJECT MANAGER: Teddy Andargie, P.E. Bid Bond Received Yes Yes Yes Yes Yes Addendums Returned Yes Yes Yes Yes Yes 40.00% 40.00% 7.50% 40.00% 40% Not Complete Pkg SBE Goal % DESCRIPTION UNIT QUANTITY UNIT PRICE EXTENSION ITEM SCHEDULE 1 - GRADING & PAVING 100-1 PREPARING RIGHT OF WAY (ALONG WINTERGREEN ROA \$114.750.00 \$35,000.00 \$175,000.00 \$145,000.00 \$40,000.00 \$22,950.00 \$29,000.00 \$200,000.00 \$13,650.00 \$68,250.00 PREPARING RIGHT OF WAY (ALONG DUNCANVILLE ROAD STA \$29,500.00 \$265,500,00 \$9.500.00 \$85,500.00 \$21,000.00 \$189,000,00 \$2,000.00 \$18,000.00 \$6,300,00 \$56,700.00 100-2 100-3 REMOVE FENCE (WOOD) 720 \$0.50 \$360.00 \$2.00 \$1,440,00 \$2.50 \$1,800.00 \$5.00 \$3,600.00 \$5.50 \$3,960.00 REMOVE FENCE (WROUGHT IRON LF \$10.00 \$7.70 100-4 15 \$0.50 \$7.50 \$150.00 \$115.50 \$20.00 \$300.00 \$11.00 \$165.00 REMOVE FENCE (BARB WIRE) 100-5 \$0.50 \$40.00 \$2.00 \$160.00 \$2.20 \$176.00 \$10.00 \$800.00 \$2.75 \$220.00 LF 100-6 REMOVE WROUGHT IRON (GATE 15 \$0.50 \$7.50 \$10.00 \$150.00 \$5.50 \$82.50 \$20.00 \$300.00 \$27.50 \$412.50 104 SAWCUTTING (ASPHALT & CONCRETE) LF 1.000 \$0.75 \$750.00 \$9.00 \$9,000.00 \$4.50 \$4,500,00 \$3.00 \$3,000.00 \$10.00 \$10,000.00 REMOVING CONCRETE (PAVEMENT) SY \$3,100.00 104-2001 310 \$28.35 \$8,788,50 \$10.00 \$15.75 \$4.882.50 \$10.00 \$3,100.00 \$20.66 \$6,404.60 REMOVING CONCRETE (SIDEWALK & TRAIL) SY 104-2015 250 \$1.00 \$250.00 \$5.00 \$1,250.00 \$8.00 \$2,000.00 \$15.00 \$3,750.00 \$25.62 \$6,405.00 737 \$6.00 \$7.370.00 104-2017 REMOVING CONCRETE (DRIVEWAY) SY \$18.35 \$13,523,95 \$7.00 \$5,159.00 \$4,422.00 \$10.00 \$17.38 \$12,809,06 SY 108 \$22.50 \$2,430.00 \$7.00 \$756.00 \$3.50 \$378.00 \$10.00 \$1,080.00 \$32.86 \$3.548.88 104-2018 REMOVE ASPHALT WITH CONCRETE CURB (DRIVEWAY) REMOVING CONCRETE (CURB & GUTTER) \$700.00 140 \$2.95 \$413.00 \$5.00 \$3.36 \$470.40 \$5.00 \$700.00 \$27.92 \$3,908.80 104-2022 ΙF REMOVING STAB BASE AND/OR ASPH PAVEMENT SY 8,700 \$0.65 \$5,655.00 \$6.00 \$52,200.00 \$5.34 \$46,458.00 \$3.00 \$26,100.00 \$6.42 \$55,854.00 105-2046 (DEPTH UNDETERMINED) EXCAVATION (ROADWAY CY 16 260 \$7.65 \$124 389 00 \$23.00 \$373 980 00 \$13.50 \$219 510 00 \$15.00 \$243 900 00 \$21.00 \$341 460 00 110-2001 132-2006 EMBANKMENT (DC) (TY B) (CL 3) CY 5.040 \$4.20 \$21,168.00 \$4.00 \$20,160.00 \$9.00 \$45,360.00 \$7.00 \$35,280.00 \$15.00 \$75,600.00 EMBANKMENT (DC) (TY B) (CL 3)DUE TO ADDITIONAL 6" CY 500 \$4.20 \$2,100.00 \$4.00 \$2,000.00 \$7.00 \$3,500.00 \$10.00 \$5,000.00 \$21.00 \$10,500.00 EXCAVATON OF ROCK ENCOUNTERED BELOW 132-2007 160-2003 FURNISHING AND PLACING TOPSOIL (4 IN) SY 13,500 \$1.50 \$20,250.00 \$4.00 \$54,000.00 \$5.20 \$70,200.00 \$7.00 \$94,500.00 \$6.36 \$85,860,00 162-2002 BLOCK SODDING (BERMUDA) SY 2,500 \$2.93 \$7,325.00 \$4.00 \$10,000.00 \$6.00 \$15,000.00 \$4.00 \$10,000.00 \$5.08 \$12,700.00 CELLULOSE FIBER MULCH SEEDING 164-2027 SY 11 100 \$0.89 \$9.879.00 \$1.00 \$11,100,00 \$2.15 \$23.865.00 \$0.75 \$8 325 00 \$0.50 \$5.550.00 SY SOIL RETENTION BLANKET (STRAW) 160 11 100 \$0.45 \$4 995 00 \$1.00 \$11.100.00 \$1.16 \$12.876.00 \$13.00 \$144,300,00 \$1.06 \$11.766.00 247-6072 FLEX BASE (CMP IN PLC) (TY D GR 2) (6") SY 3,800 \$9.20 \$34,960.00 \$15.00 \$57,000.00 \$8.00 \$30,400.00 \$15.00 \$57,000.00 \$30.68 \$116,584.00 260-6002 LIME (SLURRY) TON 276 \$149.50 \$41,262.00 \$270.00 \$74,520.00 \$165.00 \$45,540.00 \$175.00 \$48,300.00 \$349.03 \$96,332.28 LIME TREATED SUBGRADE (DC) (8 IN) SY \$4.75 \$69,685,00 \$4.00 \$50,680.00 260-6027 12.670 \$60.182.50 \$10.00 \$126,700.00 \$5.50 \$13.84 \$175,352.80 DENSE-GRADED HOT MIX ASPHALT (METHOD) (TY B) (4 TON 871 \$138.00 \$120 198 00 \$120.00 \$104 520 00 \$145.00 \$126 295 00 \$100.00 \$87 100 00 \$127 16 \$110 756 36 340-6240 DENSE-GRADED HOT MIX ASPHALT (METHOD) (TY D) (2 TON 355 \$138.00 \$48,990,00 \$130.00 \$46,150.00 \$135.00 \$47.925.00 \$120.00 \$42 600 00 \$123.92 \$43,991,60 340-6103 354-6023 PLANE ASPH CONC PAV (0" TO 4") 796 \$4.70 \$3,741.20 \$9.00 \$7,164.00 \$8.50 \$6,766.00 \$5.00 \$3,980.00 \$16.50 \$13,134.00 CONCRETE PAVEMENT (10") SY \$70.00 \$70.00 360-6022 9.000 \$79.85 \$718,650.00 \$85.00 \$765,000,00 \$630,000,00 \$74.00 \$666,000.00 \$630,000.00 GRAVITY RETAINING WALL 423-6008 CY 21 \$1,271.00 \$26,691.00 \$600.00 \$12,600.00 \$825.00 \$17,325.00 \$1,300.00 \$27,300.00 \$1.160.99 \$24,380.79 RETAINING WALL (TYPE 6) 423-6015 \$1.158.00 \$45,162.00 \$700.00 \$27,300.00 \$26,130.00 \$1,700.00 \$66,300.00 \$45,275.88 479-2001 ADJUSTING MANHOLES EΑ \$195.00 \$1,365,00 \$900.00 \$6,300.00 \$1,650,00 \$11,550,00 \$800.00 \$5,600,00 \$1,650,00 \$11,550,00 REMOVING STRUCTURES (HOUSE AT 1450 N. EΑ \$12,000.00 \$9.750.00 \$9.750.00 \$12,000.00 \$35,000.00 \$35,000.00 \$70,000.00 \$70,000.00 \$22,000.00 \$22,000.00 106-DLINCANVILLE BOAD) REMOVING STRUCTURES (MEDIUM STRUCTURES) EΑ \$1,750.00 \$3,500.00 \$5,000.00 \$10,000,00 \$3,500.00 \$7,000,00 \$20.000.00 \$40,000,00 \$4.149.29 \$8,298,58 496-2 496-3 REMOVING STRUCTURES (SMALL STRUCTURES) EA \$950.00 \$2.850.00 \$2,750,00 \$8 250 00 \$2,000.00 \$6,000,00 \$10,000,00 \$30,000.00 \$2,599.00 \$7,797.00 500-2001 MOBILIZATION LS \$200,000,00 \$200,000,00 \$225,000,00 \$225,000,00 \$477 000 00 \$477 000 00 \$1,000,000,00 \$1,000,000,00 \$840,000,00 \$840 000 00 502-2001 BARRICADES, SIGNS, AND TRAFFIC HANDLING MO 24 \$12,310.00 \$295,440.00 \$2,100.00 \$50,400,00 \$14,000.00 \$336,000.00 \$7,500.00 \$180,000.00 \$21,000,00 \$504,000.00 FACILITIES FOR FIELD OFFICE AND LABORATORY 504 MO 24 \$2.895.00 \$69,480,00 \$1,500,00 \$36,000,00 \$4,700,00 \$112,800,00 \$800.00 \$19,200,00 \$7,350,00 \$176,400,00 CONSTRUCT DETOURS 3,000 \$50.00 508-2002 SY \$53.90 \$161,700.00 \$39.00 \$117,000,00 \$75.00 \$225,000,00 \$150,000,00 \$80.28 \$240.840.00 PORTABLE CONCRETE TRAFFIC BARRIER (FURNISH LF 1,300 \$29.50 \$38,350.00 \$25.00 \$32,500.00 \$21.73 \$28,249.00 \$8.00 \$10,400.00 \$70.00 \$91,000.00 512-2001 AND INSTALL) PORTABLE CONCRETE TRAFFIC BARRIER (MOVE AND LF 620 \$14.95 \$9.269.00 \$1.00 \$620.00 \$7.068.00 \$6.00 \$3,720.00 \$9.300.00 512-2019 RESET) 512-2037 PORTABLE CONCRETE TRAFFIC BARRIER (REMOVE) 1,300 \$6.75 \$8,775.00 \$6.00 \$7,800.00 \$8.07 \$10,491.00 \$8.00 \$10,400.00 \$15.00 \$19,500.00 528 COLORED TEXTURED CONCRETE (6" THICK) SY 190 \$158.00 \$30,020.00 \$165.00 \$31,350.00 \$160.00 \$30,400.00 \$175.00 \$33,250.00 \$192.69 \$36,611.10 520_1 CONCICURE AND GUTTER 150 \$29.32 \$4.398.00 \$40.00 \$6,000.00 \$30.00 \$4.500.00 \$30.00 \$4,500.00 \$44 14 \$6,621.00 529-2023 CONCRETE CURB (MONO) 5,496 \$0.05 \$274.80 \$6.00 \$32,976.00 \$2.00 \$10,992.00 \$1.00 \$5,496.00 \$6.13 \$33,690.48 SY 530-2010 DRIVEWAYS (CONCRETE) 200 \$93.81 \$18,762.00 \$110.00 \$22,000.00 \$60.00 \$12,000.00 \$120.00 \$24,000.00 \$95.56 \$19,112.00 REINFORCED CONCRETE SIDEWALKS (5 IN) (5') 531-6001 SY 1.075 \$39.05 \$41,978,75 \$60.00 \$64.500.00 \$45.00 \$48.375.00 \$75.00 \$80,625.00 \$83.46 \$89.719.50 531-6001 REINFORCED CONCRETE SIDEWALKS (5 IN) (12') SY 390 \$46.19 \$18,014.10 \$60.00 \$23,400.00 \$60.00 \$23,400.00 \$65.00 \$25,350.00 \$85.22 \$33,235.80 531-6031 EΑ \$2,803.00 \$22,424.00 \$2,000.00 \$16,000.00 \$1,100.00 \$8,800.00 \$2,000.00 \$16,000.00 \$2,802.39 \$22,419.12 SY 414 \$46.19 \$19,122,66 \$24.840.00 \$52.00 \$21,528,00 \$70.00 \$28,980,00 \$34.552.44 REINFORCED CONCRETE SIDEWALKS (5 IN) (8-FT WIDE) 531-6032 MONOLITHIC MEDIAN NOSE (5' WIDE) \$1,450.00 \$2,900.00 \$3,000.00 \$6,000.00 \$1,760.00 \$1,500.00 \$3,000.00 536 ΕA \$3,520.00 \$1,863.25 \$3,726.50 MONOLITHIC MEDIAN NOSE (WIDTH >5') 536-2006 \$5.800.00 \$4,000.00 \$3.500.00 EΑ 4 \$1.450.00 \$16,000.00 \$14.000.00 \$2,250.00 \$9,000.00 \$1.863.24 \$7,452.96 METAL W-BEAM GUARD FENCE 540-2001 1 F 205 \$27.50 \$5,637,50 \$60.00 \$12 300 00 \$26.00 \$5,330,00 \$24.00 \$4,920,00 \$27.50 \$5 637 50 540-6018 MBGF TRANS (NON-SYM) EA 4 \$1,458,00 \$5.832.00 \$1,600.00 \$6,400.00 \$715.00 \$2.860.00 \$1,600,00 \$6,400.00 \$1,210,00 \$4.840.00

TABULATION :				Vandan Na. 4		IVandan Na O		Mandan Na 2		Mandan No. 4		Vendor No. 5	
Bid No: 2019-	•			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		Ed Bell Construction Co.	
	ntergreen Road MCIP PROJECT NO. 47302			Texas Standard		S.J. Louis Cor		Rebcon, Inc.	4 11	Accelerated Cri			
CSJ: 0918-47-									west Hwy	5760 Legacy Dr Ste B3-513		10605 Harry Hines Blvd	
	Main St. Intersection to 1300 ft to East along Win	ntergreen	Ra &	Dallas, TX 752					20	Plano, TX 750		Dallas, TX 752	
	ection to 900 ft to South along Duncanville Rd.			PH: 214-330-5				PH: 972-444-8230		PH: 214-796-4898		PH: 214-358-6581	
PROJECT MAN	NAGER: Teddy Andargie, P.E.		l Received	Yes		Yes		Yes			'es		'es
		Addendu	ms Returned	Yes		Yes		Yes			'es	Yes	
			SBE Goal %	40.00%		40.00%		7.50%			00%	40% Not Complete Pkg	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
545-6018	CRASH CUSH ATTEN (INSTL) (SKT 350) (WOOD POSTS)	EA	4	\$3,490.00	\$13,960.00	\$6,000.00	\$24,000.00	\$2,915.00	\$11,660.00	\$3,900.00	\$15,600.00	\$3,080.00	\$12,320.00
550-6008	8' HT CHAIN LINK FENCE WITH PRIVACY SLATS (TEMP) REMOVE 8' HT CHAIN LINK FENCE WITH PRIVACY SLATS	LF	709	\$8.19	\$5,806.71	\$18.00	\$12,762.00	\$16.50	\$11,698.50	\$28.00	\$19,852.00	\$27.50	\$19,497.50
550-6009	(TEMP)	LF	709	\$17.50	\$12,407.50	\$1.50	\$1,063.50	\$2.50	\$1,772.50	\$1.70	\$1,205.30	\$5.50	\$3,899.50
552-1	WIRE FENCE (TXDOT TY B) (WOOD POSTS) (TEMP)	LF	600	\$3.75	\$2,250.00	\$8.00	\$4,800.00	\$20.35	\$12,210.00	\$7.00	\$4,200.00	\$11.00	\$6,600.00
552-2	METAL GATE (TXDOT TY 1)	EA	1	\$8.20	\$8.20	\$1,200.00	\$1,200.00	\$2,750.00	\$2,750.00	\$1,200.00	\$1,200.00	\$1,100.00	\$1,100.00
560-2009	MAILBOX INSTALLATION (SINGLE)	EA	2	\$790.00	\$1,580.00	\$300.00	\$600.00	\$500.00	\$1,000.00	\$500.00	\$1,000.00	\$275.00	\$550.00
644-2001	SMALL ROADSIDE SIGN ASSEMBLIES (SWD) (TWT) (08)	EA	10	\$129.00	\$1,290.00	\$600.00	\$6,000.00	\$440.00	\$4,400.00	\$700.00	\$7,000.00	\$423.50	\$4,235.00
656	FOUNDATIONS FOR ILLUM POLES ((ONCOR STD LGT FND))	EA	4	\$2,480.00	\$9,920.00	\$2,000.00	\$8,000.00	\$1,155.00	\$4,620.00	\$1,400.00	\$5,600.00	\$1,100.00	\$4,400.00
662-2030 662-2032	WORK ZONE PVMT MRKGS (REM) (W) (TEMPORARY) WORK ZONE PVMT MRKGS (REM) (Y) (TEMPORARY)	LF LF	5,330 354	\$0.97 \$2.95	\$5,170.10 \$1,044.30	\$2.50 \$2.50	\$13,325.00 \$885.00	\$2.75 \$4.50	\$14,657.50 \$1,593.00	\$1.00 \$2.00	\$5,330.00 \$708.00	\$1.10 \$1.10	\$5,863.00 \$389.40
662-6050	WZPM TWO WAY REFLECTIVE BUTTONS (TY II-AA) (REMOVABLE)	EA	712	\$2.95	\$2,983.28	\$2.50	\$2,848.00	\$4.40	\$3,132.80	\$2.00	\$2,848.00	\$5.50	\$3,916.00
662-6052	(REMOVABLE) WZPM TWO WAY REFLECTIVE BUTTONS (TY II-C-R)(REMOVABLE)	EA	3,464	\$4.19	\$14,514.16	\$4.00	\$13,856.00	\$4.40	\$15,241.60	\$4.00	\$13,856.00	\$5.50	\$19,052.00
666-2053	REFLECT PAVEMENT MARKERS (TY I)(W)(ARROW AND ONLY)(60 MIL)	EA	2	\$449.00	\$898.00	\$280.00	\$560.00	\$308.00	\$616.00	\$450.00	\$900.00	\$275.00	\$550.00
666-2054	REFLECT PAVEMENT MARKERS (TY I)(W)(BIKE LANE SYMBOL & ARROW)	EA	2	\$721.00	\$1,442.00	\$650.00	\$1,300.00	\$715.00	\$1,430.00	\$650.00	\$1,300.00	\$440.00	\$880.00
666-2156	REFLECT PAVEMENT MARKERS (TY I)(W)(24-IN)(90 MIL)	LF	145	\$24.05	\$3,487.25	\$6.00	\$870.00	\$6.60	\$957.00	\$10.00	\$1,450.00	\$13.20	\$1,914.00
666-6014	REFLECT PAVEMENT MARKERS (TY I) (W) (8-IN)(60 MIL)	LF	700	\$12.46	\$8,722.00	\$2.00	\$1,400.00	\$2.20	\$1,540.00	\$3.00	\$2,100.00	\$2.20	\$1,540.00
666-6002	REFLECT PAVEMENT MARKERS (TY I)(W)(4-IN)(60 MIL)	LF	8,102	\$1.05	\$8,507.10	\$1.00	\$8,102.00	\$1.10	\$8,912.20	\$1.00	\$8,102.00	\$1.10	\$8,912.20
666-6003	REFLECT PAVEMENT MARKERS (TY I)(W)(6-IN)(60 MIL)	LF	150	\$10.93	\$1,639.50	\$1.50	\$225.00	\$1.65	\$247.50	\$4.00	\$600.00	\$1.65	\$247.50
666-6119	REFLECT PAVEMENT MARKERS (TY I)(Y)(4-IN)(60 MIL)	LF	2,025	\$1.05	\$2,126.25	\$1.00	\$2,025.00	\$1.10	\$2,227.50	\$1.00	\$2,025.00	\$1.10	\$2,227.50
672-6009	RAISED PAVEMENT MARKERS (CL B)(II-A-A) RAISED PAVEMENT MARKERS (CL B)(II-C-R)	EA	40	\$4.75	\$190.00	\$4.00	\$160.00	\$4.40	\$176.00	\$4.00	\$160.00	\$4.40	\$176.00
672-6010 672-6016	TRAFFIC BUTTON TY W	EA EA	94 116	\$4.75 \$4.20	\$446.50 \$487.20	\$4.00 \$4.00	\$376.00 \$464.00	\$4.40 \$4.40	\$413.60 \$510.40	\$4.00 \$4.00	\$376.00 \$464.00	\$4.40 \$4.40	\$413.60 \$510.40
900	REMOVE WOOD POSTS	EA	13	\$1.00	\$13.00	\$1.00	\$13.00	\$50.00	\$650.00	\$80.00	\$1,040.00	\$27.50	\$357.50
901	FURNISH AND INSTALL WOOD BOLLARDS	EA	60	\$38.00	\$2,280.00	\$120.00	\$7,200.00	\$69.30	\$4,158.00	\$110.00	\$6,600.00	\$38.50	\$2,310.00
902	DOWELL INTO EXISTING PAVEMENT	LF	804	\$7.25	\$5,829.00	\$10.00	\$8,040.00	\$1.00	\$804.00	\$5.00	\$4,020.00	\$20.89	\$16,795.56
905	POTHOLING INVESTIGATION	EA	5	\$250.00	\$1,250.00	\$1,000.00	\$5,000.00	\$750.00	\$3,750.00	\$700.00	\$3,500.00	\$2,621.45	\$13,107.25
906 5012	ASBESTOS REMOVAL SPLIT RAIL FENCE	ALW LF	200	\$50,000.00 \$29.70	\$50,000.00 \$5,940.00	\$50,000.00 \$18.00	\$50,000.00 \$3,600.00	\$50,000.00 \$27.50	\$50,000.00	\$50,000.00 \$16.00	\$50,000.00 \$3,200.00	\$50,000.00 \$27.50	\$50,000.00 \$5,500.00
5012	FENCING (WOOD)	LF	952	\$29.70 \$12.90	\$12,280.80	\$18.00	\$3,320.00	\$27.50 \$16.50	\$5,500.00 \$15,708.00	\$32.00	\$3,200.00	\$27.50 \$16.50	\$15,708.00
	SUBTOTAL SCHEDULE 1 - GRADING & PAVING				\$2,854,533.81		\$3,017,489.50	7.5.5	\$3,413,861.00	, , , , , ,	\$3,814,206.30		\$4,459,157.44
	CCHEDINE 2. DRAINACE												
110-6002	SCHEDULE 2 - DRAINAGE EXCAVATION (CHANNEL)	CY	2,138	\$39.10	\$83,595.80	\$20.00	\$42,760.00	\$19.09	\$40,814.42	\$15.00	\$32,070.00	\$21.00	\$44,898.00
169	SOIL RETENTION BLANKET (Curlex I CL)	SY	1,163	\$1.80	\$2,093.40	\$3.00	\$3,489.00	\$3.47	\$4,035.61	\$15.00	\$1,744.50	\$1.69	\$1,965.47
401-6001	FLOWABLE FILL	CY	45	\$192.00	\$8,640.00	\$130.00	\$5,850.00	\$165.00	\$7,425.00	\$190.00	\$8,550.00	\$165.00	\$7,425.00
402-2001	TRENCH EXCAVATION PROTECTION	LF	1,034	\$0.75	\$775.50	\$4.00	\$4,136.00	\$1.10	\$1,137.40	\$1.00	\$1,034.00	\$1.10	\$1,137.40
432-2066	RIPRAP (CL. B.) (CONC) (RR8)	CY	327	\$129.00	\$42,183.00	\$350.00	\$114,450.00	\$600.00	\$196,200.00	\$400.00	\$130,800.00	\$463.07	\$151,423.89
450-6032 450-6042	RAILING (TY C223) RAIL (TY PR1)	LF LF	155 82	\$99.00 \$99.00	\$15,345.00 \$8,118.00	\$200.00 \$175.00	\$31,000.00 \$14,350.00	\$155.00 \$110.00	\$24,025.00 \$9,020.00	\$140.00 \$100.00	\$21,700.00 \$8,200.00	\$324.03 \$215.75	\$50,224.65 \$17.691.50
462-6032	CONCRETE BOX CULVERT (10 FT X 8 FT)	LF	520	\$99.00	\$518,440.00	\$1,048.00	\$14,350.00	\$1,100.00	\$572,000.00	\$1,000.00	\$520,000.00	\$215.75 \$1,575.00	\$17,691.50
464-2003	REINF. CONCRETE PIPE (18 IN) (CL. III)	LF	335	\$108.00	\$36,180.00	\$280.00	\$93,800.00	\$88.00	\$29,480.00	\$70.00	\$23,450.00	\$88.00	\$29.480.00
464-2004	REINF. CONCRETE PIPE (21 IN) (CL. III)	LF	341	\$119.00	\$40,579.00	\$290.00	\$98,890.00	\$93.50	\$31,883.50	\$110.00	\$37,510.00	\$93.50	\$31,883.50
464-2006	REINF. CONCRETE PIPE (27 IN) (CL. III)	LF	83	\$126.00	\$10,458.00	\$300.00	\$24,900.00	\$110.00	\$9,130.00	\$220.00	\$18,260.00	\$110.00	\$9,130.00
464-2009	REINF. CONCRETE PIPE (36 IN) (CL. III)	LF	130	\$167.00	\$21,710.00	\$320.00	\$41,600.00	\$154.00	\$20,020.00	\$280.00	\$36,400.00	\$154.00	\$20,020.00
464-2011	REINF. CONCRETE PIPE (48 IN) (CL. III)	LF	15	\$529.00	\$7,935.00	\$390.00	\$5,850.00	\$220.00	\$3,300.00	\$600.00	\$9,000.00	\$220.00	\$3,300.00
464-2017	REINF. CONCRETE PIPE (18 IN) (CL. IV)	LF LF	40 34	\$148.00 \$156.00	\$5,920.00 \$5,304.00	\$280.00	\$11,200.00	\$99.00	\$3,960.00	\$250.00	\$10,000.00	\$99.00	\$3,960.00
464-2018 465-2001	REINF. CONCRETE PIPE (21 IN) (CL. IV) MANHOLE	EA EA	2	\$156.00 \$14,590.00	\$5,304.00 \$29,180.00	\$290.00 \$6,000.00	\$9,860.00 \$12,000.00	\$110.00 \$5,500.00	\$3,740.00 \$11,000.00	\$100.00 \$14,000.00	\$3,400.00 \$28,000.00	\$110.00 \$5,500.00	\$3,740.00 \$11,000.00
400-2001	INIAM IOLE	EA		φ14,390.00	φ∠υ, 10U.UU	φυ,υυυ.υυ	φ1∠,000.00	φυ,υυυ.υυ	φ11,000.00	φ 14,000.00	φ ∠ 0,000.00	φυ,υυυ.υυ	φ11,000.00

TABULATION S	TABULATION SHEET												
Bid No: 2019-005-6769 Opening Date: 12-03-2018					Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		
PROJECT: Wintergreen Road MCIP PROJECT NO. 47302				Texas Standard Construction		S.J. Louis Construction		Rebcon, Inc.		Accelerated Critical Path Inc		Ed Bell Construction Co.	
CSJ: 0918-47-015				P.O. Box 210768		520 South 6th Avenue		1868 W. Northwest Hwy		5760 Legacy Dr Ste B3-513		10605 Harry Hines Blvd	
LIMITS: From Main St. Intersection to 1300 ft to East along Wintergreen Rd &			Dallas, TX 75211		Mansfield, TX 76063		Dallas, TX 75220		Plano, TX 75024		Dallas, TX 75220		
Main St. Intersection to 900 ft to South along Duncanville Rd.				PH: 214-330-5229		PH: 817-477-0320		PH: 972-444-8230		PH: 214-796-4898		PH: 214-358-6581	
PROJECT MAN	IAGER: Teddy Andargie, P.E.	Bid Bond	Received	Yes		Yes		Yes		Yes		Yes	
		Addendur	ns Returned	Yes		Yes		Yes		Yes		Yes	
			SBE Goal %	40.00%		40.	40.00%		7.50%		40.00%		omplete Pkg
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
465-1	GRATE INLET (2'X2')	EA	1	\$3,478.00	\$3,478.00	\$4,000.00	\$4,000.00	\$1,650.00	\$1,650.00	\$1,800.00	\$1,800.00	\$1,650.00	\$1,650.00
465-2	GRATE INLET (3'X3')	EA	1	\$4,924.00	\$4,924.00	\$5,000.00	\$5,000.00	\$2,750.00	\$2,750.00	\$3,400.00	\$3,400.00	\$2,750.00	\$2,750.00
465-3	GRATE INLET (6'X6')	EA	1	\$9,780.00	\$9,780.00	\$15,000.00	\$15,000.00	\$6,600.00	\$6,600.00	\$8,100.00	\$8,100.00	\$6,600.00	\$6,600.00

No: 2019-	005-6769 Opening Date: 12-03-2018			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		Vendor No. 5		
OJECT: Wi	intergreen Road MCIP PROJECT NO. 47302			Texas Standard Construction		S.J. Louis Construction F		Rebcon, Inc.		Accelerated Critical Path Inc		Ed Bell Constr	uction Co.	
LIMITS: From Main St. Intersection to 1300 ft to East along Wintergreen Rd &			P.O. Box 2107	68	Mansfield, TX 76063		Dallas, TX 75220		5760 Legacy Dr Ste B3-513 Plano, TX 75024 PH: 214-796-4898		10605 Harry Hines Blvd Dallas, TX 75220 PH: 214-358-6581			
			Rd &	Dallas, TX 75211 I PH: 214-330-5229 Yes Yes										
								Yes		es	Yes			
PROJECT MANAGER: Teddy Andargie, P.E.		Addendums Returned												
							Yes		Yes		Yes			
			SBE Goal %				40.00%		7.50%		40.00%		40% Not Complete Pkg	
ITEM	DESCRIPTION	UNIT			EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	
465-4	GRATE INLET (4'X4')	EA	2	\$5,752.00	\$11,504.00	\$8,000.00	\$16,000.00	\$4,950.00	\$9,900.00	\$5,100.00	\$10,200.00	\$4,950.00	\$9,900.00	
465-2003	INLET (COMPLETE)(6 FT. STD. COD REC CURB INLET)	EA	2	\$6,940.00	\$13,880.00	\$5,000.00	\$10,000.00	\$3,300.00	\$6,600.00	\$4,300.00	\$8,600.00	\$3,300.00	\$6,600.00	
465-2004	INLET (COMPLETE)(6 FT. STD. COD CURB INLET)	EA	2	\$7,385.00	\$14,770.00	\$5,000.00	\$10,000.00	\$3,300.00	\$6,600.00	\$4,300.00	\$8,600.00	\$3,300.00	\$6,600.00	
465-2005	INLET (COMPLETE)(10 FT. STD. COD CURB INLET)	EA	3	\$7,965.00	\$23,895.00	\$6,500.00	\$19,500.00	\$4,400.00	\$13,200.00	\$4,800.00	\$14,400.00	\$4,400.00	\$13,200.00	
465-2006	INLET (COMPLETE)(10 FT. STD. COD REC CURB INLET)	EA	1	\$8,490.00	\$8,490.00	\$6,000.00	\$6,000.00	\$4,400.00	\$4,400.00	\$4,800.00	\$4,800.00	\$4,400.00	\$4,400.00	
465-2007	INLET (COMPLETE)(10 FT EXTRA DEPTH COD REC CURB INLET)	LF	1	\$1,000.00	\$1,000.00	\$9,600.00	\$9,600.00	\$990.00	\$990.00	\$4,800.00	\$4,800.00	\$990.00	\$990.00	
465-2008	INLET (COMPLETE)(14 FT STD COD REC CURB INLET)	EA	1	\$9,950.00	\$9,950.00	\$7,500.00	\$7,500.00	\$6,050.00	\$6,050.00	\$7,800.00	\$7,800.00	\$6,050.00	\$6,050.00	
465-2009	INLET (COMPLETE) (6 FT SQUARE WYE)	EA	1	\$6,100.00	\$6,100.00	\$8,000.00	\$8,000.00	\$4,400.00	\$4,400.00	\$9,200.00	\$9,200.00	\$4,400.00	\$4,400.00	
466-2001	NW WINGWALL (SW-0)	EA	1	\$10,000.00	\$10,000.00	\$42,000.00	\$42,000.00	\$60,500.00	\$60,500.00	\$70,000.00	\$70,000.00	\$60,500.00	\$60,500.00	
466-2002	WEST HEADWALL (MSE)	EA	1	\$17,000.00	\$17,000.00	\$40,000.00	\$40,000.00	\$70,842.56	\$70,842.56	\$25,000.00	\$25,000.00	\$50,000.00	\$50,000.00	
466-2003	SW WINGWALL (PW)	EA	1	\$22,500.00	\$22,500.00	\$15,000.00	\$15,000.00	\$27,500.00	\$27,500.00	\$40,000.00	\$40,000.00	\$27,500.00	\$27,500.00	
466-2004	NE WINGWALL (PW)	EA	1	\$22,500.00	\$22,500.00	\$25,000.00	\$25,000.00	\$33,000.00	\$33,000.00	\$40,000.00	\$40,000.00	\$33,000.00	\$33,000.00	
466-2005	EAST HEADWALL (MSE)	EA	1	\$36,000.00	\$36,000.00	\$50,000.00	\$50,000.00	\$70,842.56	\$70,842.56	\$30,000.00	\$30,000.00	\$50,000.00	\$50,000.00	
466-2007	SE WINGWALL (PW)	EA	1	\$22,500.00	\$22,500.00	\$25,000.00	\$25,000.00	\$38,500.00	\$38,500.00	\$40,000.00	\$40,000.00	\$38,500.00	\$38,500.00	
496-2005	REMOVING OLD STRUCTURES (INLETS)	EA	1	\$790.00	\$790.00	\$500.00	\$500.00	\$1,100.00	\$1,100.00	\$700.00	\$700.00	\$1,100.00	\$1,100.00	
496-2006	REMOVING OLD STRUCTURES (HEADWALLS)	EA	4	\$1,050.00	\$4,200.00	\$750.00	\$3,000.00	\$7,150.00	\$28,600.00	\$120.00	\$480.00	\$7,150.00	\$28,600.00	
496-2007	REMOVING OLD STRUCTURES (PIPE)	EA	60	\$0.25	\$15.00	\$10.00	\$600.00	\$22.00	\$1,320.00	\$30.00	\$1,800.00	\$22.00	\$1,320.00	
496-2008	REMOVING OLD STRUCTURES (10'X10' BOX CULVERTS)	LF	150	\$47.50	\$7,125.00	\$40.00	\$6,000.00	\$66.00	\$9,900.00	\$80.00	\$12,000.00	\$66.00	\$9,900.00	
556	UNDERDRAIN	LF	300	\$23.95	\$7,185.00	\$50.00	\$15,000.00	\$75.00	\$22,500.00	\$20.00	\$6,000.00	\$42.00	\$12,600.00	
	SUBTOTAL SCHEDULE 2 - DRAINAGE				\$1,094,042.70		\$1,391,795.00		\$1,394,916.05		\$1,237,798.50		\$1,582,439.41	

TABULATION	SHEET													
Bid No: 2019-				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		Vendor No. 5		
PROJECT: W	intergreen Road MCIP PROJECT NO. 47302			Texas Standard	Construction	S.J. Louis Cor	nstruction	Rebcon, Inc.		Accelerated Cri	tical Path Inc	Ed Bell Const	ruction Co.	
CSJ: 0918-47				P.O. Box 2107	68	520 South 6th	Avenue	1868 W. Northwest Hwy		5760 Legacy Dr Ste B3-513		10605 Harry Hines Blvd		
	Main St. Intersection to 1300 ft to East along Wi	ntergreen	Rd &					Dallas, TX 75220		Plano, TX 750			Dallas, TX 75220	
	section to 900 ft to South along Duncanville Rd.							PH: 972-444-8230		PH: 214-796-4		PH: 214-358-6		
PROJECT MA	NAGER: Teddy Andargie, P.E.		d Received				'es	Yes			'es		/es	
		Addendu	ms Returned				'es		'es		'es		/es	
ITEM	DESCRIPTION	LINIT	SBE Goal %	UNIT PRICE	00%		.00%		50%		.00%	UNIT PRICE	omplete Pkg EXTENSION	
HEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	
	SCHEDULE 3 - BRIDGE													
416-2001	DRILLED SHAFT (18 IN)	LF	360	\$120.00	\$43,200.00	\$100.00	\$36,000.00	\$103.60	\$37,296.00	\$180.00	\$64,800.00	\$66.00	\$23,760.00	
416-2004 420-2003	DRILLED SHAFT (36 IN) CLASS C CONC. (ABUT.)	LF CY	550 174	\$209.00 \$714.00	\$114,950.00 \$124,236.00	\$200.00 \$870.00	\$110,000.00 \$151,380.00	\$201.93 \$1,100.00	\$111,061.50 \$191,400.00	\$250.00 \$950.00	\$137,500.00 \$165,300.00	\$126.00 \$600.00	\$69,300.00 \$104,400.00	
420-2003	CLASS C CONC. (ABOT.) CLASS C CONC. (APPR SLAB)	CY	286	\$290.00	\$82,940.00	\$640.00	\$183,040.00	\$500.00	\$143,000.00	\$500.00	\$143,000.00	\$300.00	\$85,800.00	
422	HAUNCH	CY	30	\$459.00	\$13,770.00	\$250.00	\$7,500.00	\$300.00	\$9,000.00	\$1,000.00	\$30,000.00	\$600.00	\$18,000.00	
422-2001 422-2012	REINF. CONC. SLAB BRIDGE MEDIAN (6")	SF CY	7,035 12	\$21.00 \$655.00	\$147,735.00 \$7,860.00	\$25.00 \$900.00	\$175,875.00 \$10,800.00	\$26.08 \$550.00	\$183,472.80 \$6,600.00	\$40.00 \$1,900.00	\$281,400.00 \$22,800.00	\$50.00 \$600.00	\$351,750.00 \$7,200.00	
423-2025	RETAINING WALL (6 INCH)	CY	50	\$729.00	\$36,450.00	\$900.00	\$45,000.00	\$400.00	\$20,000.00	\$1,000.00	\$50,000.00	\$600.00	\$30,000.00	
425-2004	PRESTRESSED CONCRETE (BEAMS)(TY IV)(TX 54)	LF	1,050	\$182.00	\$191,100.00	\$310.00	\$325,500.00	\$234.97	\$246,718.50	\$200.00	\$210,000.00	\$315.00	\$330,750.00	
450-6034	RAILING (TY C402)	LF LF	350	\$292.00	\$102,200.00	\$190.00	\$66,500.00	\$165.00	\$57,750.00	\$270.00	\$94,500.00	\$200.00	\$70,000.00	
454 531-2024	EXPANSION JOINTS CONCRETE SIDEWALKS (5.5 FT)	SF	186 2,775	\$149.00 \$17.25	\$27,714.00 \$47,868.75	\$90.00 \$18.00	\$16,740.00 \$49,950.00	\$110.00 \$7.50	\$20,460.00 \$20,812.50	\$170.00 \$9.00	\$31,620.00 \$24,975.00	\$150.00 \$15.00	\$27,900.00 \$41,625.00	
22. 202.		<u> </u>	_,,,,,	Ţ.7.E0		Ţ.0.00		Ţoo		+3.00		Ţ.J.55		
	SUBTOTAL SCHEDULE 3 - BRIDGE	1			\$940,023.75		\$1,178,285.00		\$1,047,571.30		\$1,255,895.00		\$1,160,485.00	
	SCHEDULE 4 - ILLUMINATION													
416-2002	DRILLED SHAFT (24 IN)(ONCOR STD 213-320)	LF	33	\$209.00	\$6,897.00	\$220.00	\$7,260.00	\$203.50	\$6,715.50	\$250.00	\$8,250.00	\$198.00	\$6,534.00	
617-1	TEMPORARY LIGHTING (F&I)	LS	1	\$4,750.00	\$4,750.00	\$6,000.00	\$6,000.00	\$5,390.00	\$5,390.00	\$15,000.00	\$15,000.00	\$22,000.00	\$22,000.00	
617-2 618-6023	TEMPORARY LIGHTING (REMOVE) CONDUIT (PVC)(2 IN)(SCH 40)	LS LF	1,380	\$800.00 \$4.39	\$800.00 \$6,058.20	\$1,100.00 \$14.00	\$1,100.00 \$19,320.00	\$990.00 \$13.20	\$990.00 \$18,216.00	\$1,600.00 \$18.00	\$1,600.00 \$24,840.00	\$11,000.00 \$7.70	\$11,000.00 \$10,626.00	
624-2012	GROUND BOX (ONCOR STD 213-120)	EA	3	\$852.00	\$2,556.00	\$900.00	\$2,700.00	\$825.00	\$2,475.00	\$900.00	\$2,700.00	\$935.00	\$2,805.00	
628-6004	ELECTRICAL SERVICE TY A 120/240 060 (NS)€SP(0)	EA	1	\$4,950.00	\$4,950.00	\$9,000.00	\$9,000.00	\$8,250.00	\$8,250.00	\$6,900.00	\$6,900.00	\$11,000.00	\$11,000.00	
	SUBTOTAL SCHEDULE 4 - ILLUMINATION				\$26.011.20		\$45.380.00		\$42.036.50		\$59.290.00		\$63.965.00	
	SOBTOTAL SCHEDOLL 4-ILLOWINATION				\$20,011.20		\$45,500.00		\$42,030.30		\$33,230.00		\$03,303.00	
	SCHEDULE 5 - TRAFFIC SIGNAL													
416-6030 416-6032	DRILL SHAFT (TRF SIG POLE) (24 IN) DRILL SHAFT (TRF SIG POLE) (36 IN)	LF LF	16 42	\$700.00 \$389.00	\$11,200.00 \$16,338.00	\$250.00 \$400.00	\$4,000.00 \$16,800.00	\$203.50 \$357.50	\$3,256.00 \$15,015.00	\$300.00 \$370.00	\$4,800.00 \$15,540.00	\$198.00 \$264.00	\$3,168.00 \$11,088.00	
416-6034	DRILL SHAFT (TRF SIG POLE) (48 IN)	LF	22	\$490.00	\$10,780.00	\$600.00	\$13,200.00	\$561.00	\$12,342.00	\$470.00	\$10,340.00	\$396.00	\$8,712.00	
618-6023	CONDT (PVC) (SCHD 40) (2")	LF	20	\$43.00	\$860.00	\$14.00	\$280.00	\$13.20	\$264.00	\$18.00	\$360.00	\$22.00	\$440.00	
618-6029 618-6033	CONDT (PVC) (SCHD 40) (3") CONDT (PVC) (SCHD 40) (4")	LF LF	145 40	\$45.00 \$48.00	\$6,525.00 \$1,920.00	\$20.00 \$21.00	\$2,900.00 \$840.00	\$18.70 \$19.80	\$2,711.50 \$792.00	\$20.00 \$21.00	\$2,900.00 \$840.00	\$27.50 \$33.00	\$3,987.50 \$1,320.00	
618-6034	CONDT (PVC) (SCHD 40) (4") (BORE)	LF	1,000	\$51.00	\$51,000.00	\$23.00	\$23,000.00	\$22.00	\$22,000.00	\$25.00	\$25,000.00	\$38.50	\$38,500.00	
620-6004	ELEC CONDR (NO. 12) INSULATED	LF	120	\$4.05	\$486.00	\$1.00	\$120.00	\$0.94	\$112.80	\$1.00	\$120.00	\$1.10	\$132.00	
620-6008	ELEC CONDR (NO. 8) INSULATED	LF LF	1,860	\$4.29	\$7,979.40	\$1.50	\$2,790.00	\$1.43	\$2,659.80	\$1.40	\$2,604.00	\$1.10	\$2,046.00	
620-6010 621-6001	ELEC CONDR (NO. 6) INSULATED TRAY CABLE (3 CONDR) (14 AWG)	LF	1,285 1,245	\$4.43 \$2.95	\$5,692.55 \$3,672.75	\$1.80 \$1.40	\$2,313.00 \$1,743.00	\$1.71 \$1.32	\$2,197.35 \$1,643.40	\$1.80 \$2.50	\$2,313.00 \$3,112.50	\$1.10 \$2.20	\$1,413.50 \$2,739.00	
624-6008	GROUND BOX TY C (162911) W/APRON	EA	3	\$1,090.00	\$3,270.00	\$950.00	\$2,850.00	\$880.00	\$2,640.00	\$1,000.00	\$3,000.00	\$825.00	\$2,475.00	
624-6010	GROUND BOX TY D (162922) W/APRON	EA	1	\$1,362.00	\$1,362.00	\$1,000.00	\$1,000.00	\$935.00	\$935.00	\$1,000.00	\$1,000.00	\$935.00	\$935.00	
628-6213 680-6002	ELC SRV TY D 120/240 100(NS)AL(E)PS(U) INSTALL HWY TRF SIG (ISOLATED)	EA EA	1	\$7,300.00 \$7,250.00	\$7,300.00 \$7,250.00	\$7,500.00 \$25,000.00	\$7,500.00 \$25,000.00	\$7,150.00 \$23,672.00	\$7,150.00 \$23,672.00	\$7,000.00 \$25,000.00	\$7,000.00 \$25,000.00	\$11,000.00 \$27,500.00	\$11,000.00 \$27,500.00	
682-6001	VEH SIG SEC (12") LED (GRN)	EA	12	\$495.00	\$5,940.00	\$380.00	\$4,560.00	\$357.50	\$4,290.00	\$300.00	\$3,600.00	\$330.00	\$3,960.00	
682-6002	VEH SIG SEC (12") LED (GRN ARW)	EA	4	\$495.00	\$1,980.00	\$380.00	\$1,520.00	\$357.50	\$1,430.00	\$300.00	\$1,200.00	\$330.00	\$1,320.00	
682-6003 682-6004	VEH SIG SEC (12") LED (YEL) VEH SIG SEC (12") LED (YEL ARW)	EA EA	12 8	\$495.00 \$495.00	\$5,940.00 \$3,960.00	\$380.00 \$380.00	\$4,560.00 \$3,040.00	\$357.50 \$357.50	\$4,290.00 \$2,860.00	\$300.00 \$300.00	\$3,600.00 \$2,400.00	\$330.00 \$330.00	\$3,960.00 \$2,640.00	
682-6005	VEH SIG SEC (12") LED (TEL ARW) VEH SIG SEC (12") LED (RED)	EA	12	\$495.00	\$5,940.00	\$380.00	\$4,560.00	\$357.50	\$4,290.00	\$300.00	\$3,600.00	\$330.00	\$3,960.00	
682-6006	VEH SIG SEC (12") LED (RED ARW)	EA	8	\$495.00	\$3,960.00	\$380.00	\$3,040.00	\$357.50	\$2,860.00	\$300.00	\$2,400.00	\$330.00	\$2,640.00	
682-6018 682-6023	PED SIG SEC (LED) (COUNTDOWN) BACK PLATE (12") (3 SEC)	EA EA	8 12	\$861.00 \$239.00	\$6,888.00 \$2,868.00	\$900.00 \$120.00	\$7,200.00 \$1,440.00	\$825.00 \$110.00	\$6,600.00 \$1,320.00	\$800.00 \$110.00	\$6,400.00 \$1,320.00	\$660.00 \$104.50	\$5,280.00 \$1,254.00	
682-6025	BACK PLATE (12") (5 SEC)	EA	4	\$346.00	\$1,384.00	\$120.00	\$520.00	\$110.00	\$484.00	\$130.00	\$520.00	\$104.50	\$550.00	
684-6028	TRF SIG CBL (TY A)(14 AWG)(2 CONDR)	LF	2,360	\$2.95	\$6,962.00	\$1.25	\$2,950.00	\$1.10	\$2,596.00	\$2.00	\$4,720.00	\$2.20	\$5,192.00	
684-6031	TRF SIG CBL (TY A)(14 AWG)(5 CONDR)	LF	535	\$2.95	\$1,578.25	\$1.50	\$802.50	\$1.49	\$797.15	\$2.00	\$1,070.00	\$2.20	\$1,177.00	
684-6033 684-6046	TRF SIG CBL (TY A)(14 AWG)(7 CONDR) TRF SIG CBL (TY A)(14 AWG)(20 CONDR)	LF LF	250 1,165	\$2.95 \$2.95	\$737.50 \$3,436.75	\$2.00 \$5.00	\$500.00 \$5,825.00	\$1.87 \$4.95	\$467.50 \$5,766.75	\$2.60 \$8.00	\$650.00 \$9,320.00	\$3.30 \$4.40	\$825.00 \$5,126.00	
686-6043	INS TRF SIG PL AM(S)1 ARM(40') LUM	EA	3	\$15,439.00	\$46,317.00	\$11,000.00	\$33,000.00	\$10,450.00	\$31,350.00	\$13,000.00	\$39,000.00	\$8,800.00	\$26,400.00	
686-6059	INS TRF SIG PL AM(S)1 ARM(55') LUM	EA	1	\$22,750.00	\$22,750.00	\$30,000.00	\$30,000.00	\$28,802.40	\$28,802.40	\$25,000.00	\$25,000.00	\$16,500.00	\$16,500.00	
687-6001	PED POLE ASSEMBLY PED DETECT PUSH BUTTION (APS) INAVIGATOR 2 WIRE	EA:	4	\$1,492.00	\$5,968.00	\$2,500.00	\$10,000.00	\$2,365.00	\$9,460.00	\$1,200.00	\$4,800.00	\$2,750.00	\$11,000.00	
688-6002	TO INCLUDE ICCU WITH HARDWARE KIT	EA	8	\$795.00	\$6,360.00	\$1,500.00	\$12,000.00	\$1,375.00	\$11,000.00	\$1,500.00	\$12,000.00	\$550.00	\$4,400.00	

TABULATION	SHEET												
Bid No: 2019-				Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		Vendor No. 5	
	intergreen Road MCIP PROJECT NO. 47302			Texas Standard	Construction	S.J. Louis Co	nstruction	Rebcon, Inc.		Accelerated Cri	tical Path Inc	Ed Bell Const	ruction Co.
LIMITS: From Main St. Inters	CSJ: 0918-47-015 LIMITS: From Main St. Intersection to 1300 ft to East along Wintergreen Rd & Main St. Intersection to 900 ft to South along Duncanville Rd.				68 111 3229	Mansfield, TX 76063 PH: 817-477-0320 Yes		1868 W. Northwest Hwy Dallas, TX 75220 PH: 972-444-8230 Yes		5760 Legacy Dr Ste B3-513 Plano, TX 75024 PH: 214-796-4898		10605 Harry Hines Blvd Dallas, TX 75220 PH: 214-358-6581	
, ,			l Received	Yes							res .	Yes	
		Addendu	ms Returned			Yes		Yes			<u>/es</u> .00%	Yes	
ITEM	ITEM DESCRIPTION		SBE Goal % UNIT QUANTITY				40.00% UNIT PRICE EXTENSION		7.50% UNIT PRICE EXTENSION			40% Not Complete Pl	
IIEW	ACP-3HO POWER PANEL, AUTOSCOPE TERRA ACCESS	UNIT	QUANTITI	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
6002-6001	POINT (TAP), AND AUTOSCOPE ENCORE INTERFACE PANEL	EA	1	\$32,000.00	\$32,000.00	\$9,500.00	\$9,500.00	\$9,042.00	\$9,042.00	\$7,100.00	\$7,100.00	\$5,500.00	\$5,500.00
6002-6002	VIVDS AUTOSCOPE ENCORE WITH EASY LOCK POWER CONNECTION	EA	4	\$15,000.00	\$60,000.00	\$2,000.00	\$8,000.00	\$1,925.00	\$7,700.00	\$2,700.00	\$10,800.00	\$2,750.00	\$11,000.00
6002-6003	VIVDS SET-UP SYSTEM (AUTOSCOPE)	EA	1	\$23,000.00	\$23,000.00	\$600.00	\$600.00	\$550.00	\$550.00	\$550.00	\$550.00	\$4,400.00	\$4,400.00
	SUBTOTAL SCHEDULE 5 - TRAFFIC SIGNAL				\$383,605.20		\$247,953.50		\$233,346.65		\$243,979.50		\$232,540.00
	SCHEDULE 6 - TEMPORARY EROSION CONTROL												
506-6005	ROCK FILTER DAM TY 3 (INSTALL)	CY	41	\$216.00	\$8,856.00	\$150.00	\$6,150.00	\$148.50	\$6,088.50	\$130.00	\$5,330.00	\$112.04	\$4,593.64
506-6012 506-6020	ROCK FILTER DAM TY 3 (REMOVE) CONSTRUCTION EXITS (TY 1)	CY SY	41 270	\$5.00 \$105.00	\$205.00 \$28,350.00	\$10.00 \$25.00	\$410.00 \$6,750.00	\$35.75 \$32.62	\$1,465.75 \$8,807.40	\$25.00 \$40.00	\$1,025.00 \$10,800.00	\$29.32 \$30.15	\$1,202.12 \$8,140.50
506-6024	CONSTRUCTION EXITS (TY 1) (REMOVE)	SY	270	\$2.58	\$696.60	\$1.50	\$405.00	\$14.25	\$3,847.50	\$8.00	\$2,160.00	\$9.77	\$2,637.90
506-6040	CURB INLET PROTECTION	EA	10	\$752.00	\$7,520.00	\$200.00	\$2,000.00	\$220.00	\$2,200.00	\$400.00	\$4,000.00	\$346.07	\$3,460.70
506-6041 506-6042	CURB INLET PROTECTION (REMOVE) BIODEG EROSION CONTROL LOGS (INSTALL) (18")	EA LF	10 3,904	\$5.00 \$3.50	\$50.00 \$13,664.00	\$1.00 \$5.00	\$10.00 \$19,520.00	\$82.50 \$5.23	\$825.00 \$20,417.92	\$100.00 \$6.00	\$1,000.00 \$23,424.00	\$136.50 \$5.04	\$1,365.00 \$19,676.16
506-6042	BIODEG EROSION CONTROL LOGS (INSTALL) (18") BIODEG EROSION CONTROL LOGS (REMOVE) (18")	LF	3,904	\$0.50	\$1,952.00	\$1.00	\$3,904.00	\$0.83	\$3,240.32	\$0.40	\$1,561.60	\$0.44	\$19,676.16
7015-1	TURBIDITY BARRIER (INSTALL)	LF	240	\$93.00	\$22,320.00	\$40.00	\$9,600.00	\$20.00	\$4,800.00	\$40.00	\$9,600.00	\$41.77	\$10,024.80
7015-2	TURBIDITY BARRIER (REMOVE)	LF	240	\$5.00	\$1,200.00	\$1.50	\$360.00	\$10.00	\$2,400.00	\$10.00	\$2,400.00	\$11.03	\$2,647.20
	SUBTOTAL SCHEDULE 6 - TEMPORARY EROSION CONTROL				\$84,813.60		\$49,109.00		\$54,092.39		\$61,300.60		\$55,465.78
	SCHEDULE 7 - UTILITY RELOCATION												
908	RELOCATE WATER METER AND SERVICE	EA	3	\$2,950.00	\$8,850.00	\$1,200.00	\$3,600.00	\$4,950.00	\$14,850.00	\$1,700.00	\$5,100.00	\$4,950.00	\$14,850.00
909	CONSTRUCT 8-IN WW MAIN	LF	20	\$529.00	\$10,580.00	\$200.00	\$4,000.00	\$385.00	\$7,700.00	\$170.00	\$3,400.00	\$385.00	\$7,700.00
	SUBTOTAL SCHEDULE 7 - UTILITY RELOCATION				\$19,430.00		\$7,600.00		\$22,550.00		\$8,500.00		\$22,550.00
	SCHEDULE 8 - IRRIGATION												
618-1 618-2	2" PVC CONDUIT 4" PVC CONDUIT	LF LF	45 45	\$53.30 \$78.10	\$2,398.50 \$3.514.50	\$20.00 \$30.00	\$900.00 \$1.350.00	\$50.00 \$50.00	\$2,250.00 \$2,250.00	\$25.00 \$30.00	\$1,125.00 \$1.350.00	\$23.83 \$29.74	\$1,072.35 \$1.338.30
010-2	4 FVC CONDOTT	LF	45	\$76.10	\$3,514.50	\$30.00	\$1,350.00	\$50.00	\$2,250.00	\$30.00	\$1,350.00	\$29.74	\$1,336.30
	SUBTOTAL SCHEDULE 8 - IRRIGATION				\$5,913.00		\$2,250.00		\$4,500.00		\$2,475.00		\$2,410.65
	SCHEDULE 9 - UTILITY ITEMS (SOUTHWEST 120/96 " WA	TER TRANS	MISSION)										
1500L	12" DUCTILE IRON WATER PIPE (BLOW OFF DRAIN LINE)	LF	42	\$790.00	\$33,180.00	\$150.00	\$6,300.00	\$760.24	\$31,930.08	\$170.00	\$7,140.00	\$140.80	\$5,913.60
1600AN	96" STEEL WATER PIPE	LF	1,300	\$1,295.00	\$1,683,500.00	\$1,416.00	\$1,840,800.00	\$1,975.00	\$2,567,500.00	\$2,400.00	\$3,120,000.00	\$1,750.00	\$2,275,000.00
5140L	12" FLAP VALVE	EA	1	\$2,000.00	\$2,000.00	\$14,000.00	\$14,000.00	\$3,850.00	\$3,850.00	\$4,000.00	\$4,000.00	\$588.50	\$588.50
5150AL	84" ACCESS MANHOLE	EA	3	\$32,217.00	\$96,651.00	\$40,000.00	\$120,000.00	\$44,000.00	\$132,000.00	\$42,000.00	\$126,000.00	\$36,234.00	\$108,702.00
5155AN2 5305	96" ACCESS MANHOLE WITH BLOW OFF (TYPE 2) ANODE CATHODIC PROTECTION SYSTEM	EA EA	1	\$22,580.00 \$21,705.00	\$22,580.00 \$21,705.00	\$60,000.00 \$40,000.00	\$60,000.00 \$40,000.00	\$66,000.00 \$27,500.00	\$66,000.00 \$27,500.00	\$65,000.00 \$27,000.00	\$65,000.00 \$27,000.00	\$54,109.00 \$25,514.50	\$54,109.00 \$25,514.50
3303	IMPRESSED CURRENT CATHODIC PROTECTION												
5306	SYSTEM	EA	1	\$19,581.00	\$19,581.00	\$30,000.00	\$30,000.00	\$39,560.40	\$39,560.40	\$85,000.00	\$85,000.00	\$67,974.50	\$67,974.50
5310 5580AN	CORROSION CONTROL TEST STATION 96" DISHED HEAD PLUG	EA EA	7	\$4,235.00 \$34,050.00	\$29,645.00 \$34.050.00	\$1,500.00 \$15,000.00	\$10,500.00 \$15.000.00	\$8,500.00 \$14.850.00	\$59,500.00 \$14,850.00	\$9,000.00 \$14,000.00	\$63,000.00 \$14.000.00	\$996.60 \$19.393.00	\$6,976.20 \$19.393.00
5580AN 5585AN	96" TEST FITTINGS	EA EA	2	\$34,050.00 \$36,900.00	\$34,050.00 \$73,800.00	\$15,000.00 \$12,500.00	\$15,000.00 \$25.000.00	\$14,850.00 \$5.500.00	\$14,850.00 \$11,000.00	\$14,000.00 \$5,200.00	\$14,000.00 \$10,400.00	\$19,393.00 \$22,907.50	\$19,393.00 \$45.815.00
5590AN	96" NIGHT CAP PLUG	EA	1	\$22,500.00	\$22,500.00	\$4,000.00	\$4,000.00	\$11,000.00	\$11,000.00	\$10,000.00	\$10,000.00	\$3,476.00	\$3,476.00
5750D	2" FLUSH POINT	EA	1	\$6,575.00	\$6,575.00	\$3,000.00	\$3,000.00	\$4,400.00	\$4,400.00	\$4,000.00	\$4,000.00	\$1,298.00	\$1,298.00
5762J	8" TYPE 2 AIR VALVE INSTALLATION	EA	2	\$24,500.00	\$49,000.00	\$35,000.00	\$70,000.00	\$33,000.00	\$66,000.00	\$32,000.00	\$64,000.00	\$13,321.00	\$26,642.00
6260 6904	CLEARING AND GRUBBING HYDROMULCH	EA SY	1 4,060	\$14,500.00 \$0.89	\$14,500.00 \$3,613.40	\$25,000.00 \$1.00	\$25,000.00 \$4,060.00	\$30,690.00 \$2.65	\$30,690.00 \$10,759.00	\$13,000.00 \$0.60	\$13,000.00 \$2,436.00	\$1,000.00 \$1.54	\$1,000.00 \$6,252.40
6925	TRENCH EXCAVATION SAFETY AND SUPPORT	LF	1,300	\$1.95	\$2,535.00	\$4.00	\$5,200.00	\$1.00	\$1,300.00	\$0.00	\$13.00	\$4.40	\$5,720.00
6931AN	96" MONOLITHIC INSULALING JOINT STEEL CLOSURE SECTION	EA	1	\$13,900.00	\$13,900.00	\$160,000.00	\$160,000.00	\$33,000.00	\$33,000.00	\$32,000.00	\$32,000.00	\$213,126.00	\$213,126.00
6960AN	REMOVE 96" INTERNAL TEST PLUG	EA	1	\$6,250.00	\$6,250.00	\$3,000.00	\$3,000.00	\$5,500.00	\$5,500.00	\$5,200.00	\$5,200.00	\$2,354.00	\$2,354.00
7030 7041	ROCK FOUNDATION FLOWABLE BACKFILL	CY	60 25	\$5.00 \$160.00	\$300.00 \$4,000.00	\$50.00 \$130.00	\$3,000.00 \$3,250.00	\$60.50 \$137.50	\$3,630.00 \$3,437.50	\$57.00 \$130.00	\$3,420.00 \$3,250.00	\$48.40 \$118.80	\$2,904.00 \$2,970.00
7041	MODIFIED FLOWABLE BACKFILL	CY	160	\$160.00	\$4,000.00	\$130.00	\$3,250.00	\$137.50	\$3,437.50	\$130.00 \$135.00	\$3,250.00	\$118.80	\$2,970.00
7051	TOPSOIL	SY	4,060	\$1.25	\$5,075.00	\$4.00	\$16,240.00	\$5.83	\$23,669.80	\$6.00	\$24,360.00	\$0.61	\$2,476.60
7053	CEMENT STABILIZED SAND BACKFILL	CY	295	\$192.00	\$56,640.00	\$80.00	\$23,600.00	\$82.50	\$24,337.50	\$80.00	\$23,600.00	\$95.70	\$28,231.50

TABULATION	SHEET												
Bid No: 2019	-005-6769 Opening Date: 12-03-2018			Vendor No. 1		Vendor No. 2		Vendor No. 3		Vendor No. 4		Vendor No. 5	
PROJECT: W	/intergreen Road MCIP PROJECT NO. 47302			Texas Standard	Construction	S.J. Louis Con	struction	Rebcon, Inc.		Accelerated Critical Path Inc		Ed Bell Construction Co.	
CSJ: 0918-47	CSJ: 0918-47-015			P.O. Box 210768		520 South 6th Avenue		1868 W. Northwest Hwy		5760 Legacy Dr Ste B3-513		10605 Harry Hines Blvd	
							Dallas, TX 75220		Plano, TX 75024		Dallas, TX 75220		
Main St. Intersection to 900 ft to South along Duncanville Rd.								PH: 972-444-8230		PH: 214-796-4898		PH: 214-358-6581	
		Bid Bond Received											
PROJECT MA	PROJECT MANAGER: Teddy Andargie, P.E.			Yes		Yes			es	Yes		Yes	
		Addendu	ms Returned		Yes		Yes		es	Yes		Yes	
		SBE Goal %		40.00%		40.00%		7.50%			00%	40% Not Complete Pkg	
ITEM	DESCRIPTION	UNIT	QUANTITY	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION	UNIT PRICE	EXTENSION
7071	CLASS "B" CONCRETE	CY	400	\$160.00	\$64,000.00	\$140.00	\$56,000.00	\$137.50	\$55,000.00	\$130.00	\$52,000.00	\$141.90	\$56,760.00
7703	GEOTEXTILE FABRIC (EMBEDMENT)	SY	1,000	\$3.09	\$3,090.00	\$3.00	\$3,000.00	\$2.20	\$2,200.00	\$2.00	\$2,000.00	\$2.20	\$2,200.00
7730	DISPOSAL OF HEAVILY CHLORINATED WATER MAIN FLUSHING WATER	LS	1	\$29,500.00	\$29,500.00	\$5,000.00	\$5,000.00	\$2,750.00	\$2,750.00	\$2,600.00	\$2,600.00	\$10,230.00	\$10,230.00
8005	CONCRETE BARRICADING (WATER MAIN ONLY)	LF	500	\$14.50	\$7,250.00	\$10.00	\$5,000.00	\$60.00	\$30,000.00	\$22.00	\$11,000.00	\$25.30	\$12,650.00
300042T	LEAK DETECTION TESTING	LF	1,300	\$4.50	\$5,850.00	\$30.00	\$39,000.00	\$33.00	\$42,900.00	\$33.00	\$42,900.00	\$35.20	\$45,760.00
300043T	MOBILIZATION (WATER MAIN)	LS	1	\$10,000.00	\$10,000.00	\$175,000.00	\$175,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$220,000.00	\$154,000.00	\$154,000.00
300082T	HEAT SHRINKABLE JOINT PROTECTIVE COATING INSPECTION	EA	3	\$3,000.00	\$9,000.00	\$1,000.00	\$3,000.00	\$9,350.00	\$28,050.00	\$9,000.00	\$27,000.00	\$501.60	\$1,504.80
300100T	CONNECTION TO EXISTING 96" WATER MAIN	LS	1	\$11,795.00	\$11,795.00	\$16,000.00	\$16,000.00	\$82,500.00	\$82,500.00	\$80,000.00	\$80,000.00	\$25,086.60	\$25,086.60
	SUBTOTAL SCHEDULE 9 - UTILITY ITEMS (SOUTHWEST	120/96 " WA	TER TRANSMIS	SION	\$2,367,665.40		\$2,811,150.00		\$3,657,694.28		\$4,165,919.00		\$3,233,636.20
	SUBTOTAL: Schedule 1 - PAVING & DRAINAGE				\$2,854,533.81		\$3,017,489.50		\$3,413,861.00		\$3,814,206.30		\$4,459,157.44
	SUBTOTAL: Schedule 2 - WATER & SANITARY SEWER				\$1,094,042.70		\$1,391,795.00		\$1,394,916.05		\$1,237,798.50		\$1,582,439.41
	SUBTOTAL: Schedule 3 - BRIDGE SUBTOTAL: Schedule 4 - ILLUMINATION				\$940,023.75 \$26.011.20		\$1,178,285.00 \$45.380.00		\$1,047,571.30 \$42.036.50		\$1,255,895.00 \$59.290.00		\$1,160,485.00
	SUBTOTAL: Schedule 4 - ILLUMINATION SUBTOTAL: Schedule 5 - TRAFFIC SIGNAL				\$26,011.20		\$45,380.00 \$247.953.50		\$42,036.50 \$233.346.65		\$59,290.00		\$63,965.00 \$232.540.00
	SUBTOTAL: Schedule 5 - TRAFFIC SIGNAL SUBTOTAL: Schedule 6 - TEMPORARY EROSION CONT	POI			\$84.813.60		\$247,953.50 \$49.109.00		\$233,346.65 \$54.092.39		\$243,979.50 \$61.300.60		\$232,540.00 \$55.465.78
-	SUBTOTAL: Schedule 7 - UTILITY RELOCATION	NOL .			\$19,430.00		\$7.600.00		\$22,550.00		\$8,500.00		\$22,550.00
	SUBTOTAL: Schedule 8 - IRRIGATION				\$5.913.00		\$2,250.00		\$4.500.00		\$2,475.00		\$2,410.65
	SUBTOTAL: Schedule 9 - UTILITY ITEMS				\$2.367.665.40		\$2.811.150.00		\$3.657.694.28		\$4,165,919.00		\$3,233,636,20
					. , ,		. ,. ,		, 100		, , ,		, . , , , ,
					Bid No 1		Bid No 2		Bid No 3		Bid No 4		Bid No 5
	TOTAL BASE BID:				\$7,776,038.66		\$8,751,012.00		\$9,870,568.17		\$10,849,363.90		\$10,812,649.48